TRIPLE WIN

PA-1100 ON SALE NOW

LOTTERY

P ,
l WHEN ANY OF YOUR NUMBERS MATCH
(3 EITHER WINNING NUMBER, WIN PRIZE SHOWN
A TO THE RIGHT OF THE MATCHING NUMBER. 0DDS ARE CONSOLIDATED
WIN WITH: WIN: 1IN: 0DDS ARE 1 IN:
) FREE FREE $1 TICKET 9.52 FREE $1 TICKET = 9.52
[ S1x2 $2 100.00
$2 w/ WIN S2 33.33
P B $2 100.00 $2 = 20.00
$2 + S1 S3 300.00
o S1w/3X S3 75.00
s S3 w/ WIN S3 100.00
S3 S3 300.00 $3 =33.33
T (52 x 2) + S1 $5 300.00
S5 w/ WIN S5 375.00
P S5 S5 600.00 $5=130.43
l $2 w/ 3X S6 200.00
$S6 w/ WIN S6 600.00
E S6 $6 600.00 $6 = 120.00
A S$5x 2 s10 1,500
(S3x2)+(S2x2) s10 750.00
W 53w/ 3%)+51 $10 23077
E S10 w/ WIN s10 1,000
S10 S10 1,000 $10 = 120.00
P ($2 w/ 3X) x 2 $12 1,500
$4 w/ 3X $12 3,000
Il $12 w/ WIN $12 3,000
s S12 S12 3,000 $12 = 600.00
S5x 4 $20 3,000
|l S10x2 $20 3,000
(S5 w/ 3X) + S5 $20 1,000
'3 $20 w/ WIN $20 3,000
l $20 $20 3,000 $20 = 428.57
($10 x 3) + $20 S50 3,000
(B (520 x 2) + ($5 x 2) $50 3,000
A (($5 w/ 3X) x 3) + S5 $50 3,000
S50 $50 3,000 $50 = 750.00
(] $50x2 $100 24,000
((S10 w/ 3X) x 3) + S10 $100 6,000
E $100 $100 24,000 $100 = 4,000
$100 w/ 3X $300 24,000
P $300 $300 40,000 $300 = 15,000
o $3,000 $3,000 480,000 $3,000 = 480,000
s [ OVERALL 0DDS 1:4.65
[l REVEAL A "3X" (3TIMES) SYMBOL, WIN TRIPLE THE PRIZE SHOWN P Ay b Frires o shice 10

TO THE RIGHT OF IT.




